In describing elements of communication, a person or an event which provides verbal or
non-verbal use to which someone can respond is known as.

(1) Meszage (2) Source
(3) Channel (4) Communication context
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Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A):  Agenda building is a collective communication process in which media,
government and the citizenry reciprocally influence one another.

Reasons (R) : Apgenda building presumes cognitive effects and inactive audience with less
societal-level effects.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true
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Correct Answer -



Statement I: The art of Mass Communication is much more simple than of face to face

communication or any type of communication.

Statement II : Each of us uses 35 (Sight, Sound and Smell) and 2T (Touch and Taste) when

we communicate with others.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement II are incorrect
(3)  Statement I is correct but Statement II is incorrect
(4) Statement [ 1s incorrect but Statement II 1s correct
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Feedback reflects the reactions of the audience when :

(&) One knows the effects of communication.
(B) One knows the quality of content of the message.
(C)  One knows the future prospect of the object of communication.

(D)  One knows the financial implications of the communication.

Choose the most appropriate answer from the options given below :

(1) (A), (B). (D) only (2) (B). (D). (C) only
(3)  (A). (C). (D) only (4) (A). (B). (C) only
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15)
The power which comes through connectedness of one's words matching one's feelings, body

and facial expression 1n communication process 1s known as :
(1) Conformity (2) Congruence
(3) Collaboration (4) Control
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) In a classroom, transforming verbal and non-verbal signs back into messages is known as

(1) Feedback (2) Encoding
(3) Decoding (4) Reverse communication
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12)

(A)
(B)
(C)
(D)

(E)

Perspective taking in communication supports

Behavioural rigidity
Openness

Sharing of information
Trust

Secrecy

Choose the correct answer from the options given below :

(1)

(3)

(A). (B). and (C) only (2) (B). (C), and (D) only

(C). (D), and (E) only (4) (A), (C), and (E) only
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Reason (R) :

Assertion (A):  The positive feedback from the teacher is necessary to motivate students.

EReasons (R) : Continuous criticism of students is the best method to make them realize
positive outcomes in their pursuit of knowledge.

In the light of the above statements, choose the answer from the options given below :
(1) Both (A) and (R) are true and (R) 15 the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
i3 (A) is true but (R) is false
i4) (A) 1s false but (R) is true
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14)

The sequence of the stages of communication process is :

(A)
(B)
(C)
(D)

(E)

Lewvel of acceptance
Transmizsion of congnitive data
Message reception
Understanding

Reaction

Choose the correct answer from the options given below :

(1)

(3)

(A). (B), (C). (D). (E) (2) (B). (C). (D). (E). (A)

(C). (E). (D), (A), (B) (4) (B). (C), (D), (A), (E)
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15)

(B)
(0
(D}

Match List I with List II

List I
Tvpe of communication
Network communication
Mass communication
Public communication

Small group communication

List IT
Characteristic feature
(I Formal and Planned
(II) Creates identity and unique dynamies
(I} Inter - dependent relations
(IV) Anonvmous audience

Choose the correct answer from the options given below :

(1) (A)-(II), (B)-(III), (C)-AV), (D)-(D
(2) (A)-(III), (B)-(IV). (C)-(I). (D)-{IL}
(3 (A)-(IV), (B)-(I), (C)-(T), (D)-(TIT}
{4) LA)-(T), (B)-(1T), (CH-(I11), (DN-(TV)
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